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& O F £ (MmEET)
T f# R Bk - P [ % & i 2

b e (e 16 T 2 1.0
Wit &8 1. |7 A 4 GRLCAH X & i 1.0 [ V=0.0359m3

YNVAE =N a7 - m3 0. 0359

B B f5a0)-b (N T)) m3 0. 0359




1. WrimfE1E T

=

EXL

wE H

(AN

. - BB .
5 o (o) | () | () (n3) i

O[HE 0.10 0. 10 0.03 0. 0003

@|H7E 0. 10 0. 10 0. 03 0. 0003

®IZSIT 0. 40 0. 30 0.03 0. 0036

OlZ I 0. 10 0. 10 0.03 0. 0003

Gz I 0. 20 0. 30 0.03 0.0018

©| & 0.20 0. 40 0. 05 0. 0040

D[ & 0. 25 0. 80 0.05 0.0100

K& A 0.15 0.25 0. 05 0.0019

Q&M 0.15 0.15 0.03 0. 0007

Ll 0. 60 0.25 0. 05 0. 0075

() Eradiisl 0.10 0. 20 0.05 0.0010

@\ & 0. 30 0. 50 0.03 0. 0045

N, 0. 0359




[ =a /& ]

& £ E £ (OCUEIEET)
T f# R Bk - P [ % & i
%g?h 2y 1.0
2&?“ m 0.50 (0. 05kg)
=T kg 0.13




L. OOHIEAT

(R IBHER)
X OHNAREEE W 1,150 kg/m3
. ~ & B EX L X H W .
ar () | G | G | () -
OIER 0. 0008 0.50 0.10 0. 046
0. 50 0. 046
BEW = 1EB X EIH X E&L X HAAEEEV
2. =T (ZARFIUEBER)
X OHAATEESE W 1,700 kg/m3 BB 50 mm EXH 3 mm
e ~ & B EX L JEX H BE W .
S () | G | ) | (k) "=
OIS 0.05 0.50 0.003 0. 128
0. 50 0.128
BHEW = 1EB X JESH X &L X HNAEEEWV




[ =a /& ]

Ho& &£ G R OG-Vl EEIET)
T fi B W& - STk = <¥{va B & T
H—RKL—v .
MG IET = 1.0
SARET.  [6r-C-2B-5/H m 22.90
b -biET m -
275w |~E—H3 t 0.14
SRR E T |Gr—C-2B-5/ m 22.90
E— ARRE L Gr—-C-2B-5/H m -




1. R, BE—AHET

P S L | BfyEE| =W -
o () | CGem) | ey | P %
O BRG] Gr-C—2B-5/ 11.50 6. 02 69. 23 5.7+5. 8
@)\ T infa Gr-C-2B-5H 11. 40 6. 02 68. 63 5.7+5. 7
e
N
SARMEESE 22. 90 137. 86
-
|
A
b M E S B 0. 00 0. 00
= 137. 86
2. R, BE—AERET
Yz = L 7
G o oo
[ A Gr-C-2B-5HH 11.50
@ Tt Gr-C-2B-5H 11.40
e
A
HARE SR 22. 90
-
|
A
bR E A 0. 00




[ =l & ]
B (-l R T)

&

il
i

T FE Rl B - ST B Hifr ¥ & i L
e T
S H R L m2 25.7 FHE LA
g@% Bz f% ﬁ;/ﬁ 4,7\/9; m2 25.7 T®Y
’ Wik 1 | ™ .7 D

EiltE =7 # Vg

! S R T L 25.7 LY




XAt
. i RS mEH IZN=) A% 1A
(m) (m) (m2/A ) [ (CK) (m2)
D[ ZFE (LMD [6rC-2B5MH] 0. 1143 0. 900 0. 323 2.58
@| %R CFifD)  |6rc2B5MM| 0. 1143 0. 900 0. 323 2.58
& g 5.16
SRR
. FER L INER) A
= o (m) (m2/m ) (m2) i =
& &t B
b=
g () | (n2md | (w2 mo=
Ot -k (Ey7lD)  [6rC2B-5M] 12.00 0. 84 10.08 [6.2+5.8
@t =5 (Rl [er-c2B-5/] 12.40 0.84 10.42  |6.2+6.2
AN =
= " 20. 50
FE L/ =4
AFt = 5.16 + - +  20.50 = 25.66




[ =a /& ]

W& £ OB OO - AT ERET)
T & il il WK -« Tk = <¥{va B o= i 22
%’%"IW = 1.0
ARV VA e
ST E— AT m 47.5
Bl LA ¢ 15.0 fL 32




1. B =LA TR E L

R : 5.93X2 + 5.90X2 = 23.66 m
TEifl @ 5.93X2 + 5.98X2 = 23.82 m
> = 47.48 m

2. Bibm LA

4X4X2 ¢ 15. 0FL = 32 1L
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& £ G £ (e —LARET)
T & & Bl ok - Tk =X (72 H & i 2
E&E%EA ey 1.0
ME—L [ 77 A=AV =7 _ Y

T

SV-1 FH4 /%




Ll — AR E T

AR : 0.29%2
THifAl © 0.29%2
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% = B OFF K O OKUIVERET)

T Mol Bk - ik | B B & fis =

KE) Y BXE T 7 1.0

AKEIOTAN V7" A
KEIY BERERIR VN 27y ) AR 2 5 m 21.99




Lo KGNV ERET. OREIDT7AN )y7 ABE AL BEEAIR VN 27Vy ) 2A0 = )

W Ffff Woow
(O B 10. 71 5. 65+5. 06
@ | Fol 11.28 5. 63+5. 65

& F 21.99




[ =a /& ]

& £ B R (i B hERE T)

A Bk - P B &K & e 2

= 1.0
HEERRGIET  [7A770h t=40mm m 14. 76
T SN iigg;i] m 19. 37
SRR (72770 t=4em m2 34. 86
;g% =k 3em% B 2 6emPL T m2 9.15
YNVAL =82 /)y -l m3 0. 46
X IR TAT 7V b m3 1.39
X IR HERH2 )= (N TD) m3 0. 46
ar s J— b |24-12-25H m3 0. 46
A P m2 2.28
fiiie B H ESHI (27 > L 2 ) m 16. 50
f{’i@lﬁg“ M12 EN 249
7 ] SD345, D13 kg 73.3
VEASH Hukt ;/ui;#ﬂi(;a;@ M 33. 00
#ET ﬁgi RS (13) m2 34. 86
N Kisffen M-30, t=30mm | m2 34. 86




fiif B Hhak i T

1.

ERTERCGIWr (TA7 7N t=40mm)
AIFEEIEE - 4.33+2.63
AKEETE M - 7.80

7w Z— AL (a/))=F t=50mm)
AMFEE :6.25

PIABI - 4. 00+4. 00
A2fBH 1 5.12

=

. BELERRAE A (TA77vE t=4cm)
1]

145

i : 28.28
A2 7

5T : 6.58

VAN
=
AN
[

=

a7 J—kIoY (t=5cm)

AL : 7.00X (0. 25+0. 30)
AUBH @ 1/2X (0. 170+0. 380)
AUREH @ 1/2X (0. 162+0. 373)
PLIEM : 4.00Xx0.30X%X2
A2F&H  : 5.50X (0. 25+0. 30)
A2FBH : 1/2X0.38X0.272

ANIFEIA (=27 U — RoR)

ar7 J—HMR3GEHOY)
9.15X0. 05

TAZ7 7Lk
34.86X0. 04

a7 V—K~OAD)
9.15X0. 05

X0.15 (g~ FER2ERR)
X0.15 (T~ > FHERR)

(R~ FEBPERR)

= 6. 96 m
= 7. 80 m
= 14.76 m
= 6. 25 m
= 8. 00 m
= 5. 12 m
= 19. 37 m
= 28.28 m2
= 6.58 m2
= 34.86 m2
= 3.85  m2
= -0.04 m2

-0.04 m2
= 2.40 m2
= 3.03 m2
= -0.05 m2
= 9.15 m2
= 0.46 m3
= 1.39 m3
= 0.46  m3



7. a7 Y — bk (24-12-25H)

ALFBE @ 7.00X (0. 25+0. 30) X 0. 05 = 0.193 m3
AUBE @ 1/2X (0. 17040. 380) X 0. 15X 0. 05 ( FJfi o FEpdesr) = -0.002 m3
ALFES : 1/2X (0. 162+0. 373) X 0. 15X 0. 05 (F i/~ o FEh#Err) = -0.002 m3
PIFBIH : 4. 00X 0. 30X 2X0. 05 = 0.120 m3
A2F& & : 5.50X (0. 25+0. 30) X 0. 05 = 0.151 m3
A2FBE : 1/2X0.38X0.272X0.05 (Rl o FEpHERR) = -0.003 m3
= 0.457 m3
8. H
ALKES :7.00X0.05%X3 = 1.05 m2
PLIEM : 4.00X0.05X%X2 = 0.40 m2
A2KBH 1 5.50%X0.05%X3 = 0.83 m2
= 2.28 m2
9. fififfE B #h (BSHL (27 > L 2 Hl))
ALFBE 1 7.000 = 7.000 m
PIF&RH - 4. 000 = 4,000 m
A2F&H 1 5.500 = 5.500 m
= 16.500 m
10, a/))=N7/h=K VR E
ALBE : 271X2+427+25 = 106 A
PIFBI : 15X2X2 = 60 A
A2FBH : 21X2+4+21+20 = 83 A
= 249 A
11. #k7% (SD345,D13)
AlfGH
H1 0. 045X 106 X 0. 995kg/m = 4.7 kg
H2-1  6.800X3X0.995kg/m = 20.3 kg
H2-2  6.182X1X0.995kg/m = 6.2 kg
PLAE
H1 0. 045 X 60 X 0. 995kg/m = 2.7 kg
H2-3  3.800X4X0.995kg/m = 15.1 kg
AF&H
H1 0. 045 X 83X 0. 995kg/m = 3.7 kg
H2-4  5.300X2X0.995kg/m = 10.5 kg
H2-5  5.150X1X0.995kg/m = 5.1 kg
H2-6  4.986X1X0.995kg/m = 5.0 kg
= 73.3 kg



12.

13.

14.

EARXEHM () a2 — 2 #7084 5)
ALKES  +7.00X0.002X1000

PLFER @ 4.00X0.002X 1000
A2KBE : 5.50X0. 002X 1000

#JE () B RiFEAs (13), t=40mm)
AFBEH :28.28

A2KBH 1 6.58

AR E CRIFRAfE AT, t=30mm)

AMFEE - 28.28
A2fBH 1 6.58

14. 00 0
8.00 0
11. 00 0
33.00 0
28.28 m2
6.58 m2
34.86 m2
28.28 m2
6.58 m2
34.86 m2



[ =a /& ]

& &£ O £ (HEKMERET)
T Ff il a1l e - T i ==X va o & i G2
BEAK R E T = 1. 00 (N=4f& )
o 2/7) =}
B X — A t=50mm m 4,70
;ZZU”F Sem% i % 6emPl T m2 0. 68
NTIFHIA VLRI S ) m3 0.03
eI MEfHa7) - (N S7) m3 0.03
a/7)-hEIFL | ¢ 125 X380 L 4
BiE 7 =7 o b kg 6.78 | ( 0.006 m3)
N v a—Ry RE101
= bt FA kg 0.56
=7 ) — |k [18-8-25H m3 0.03
$ 100X 1. 0X620 j W
BEZK SUS304 i 4 | TSDR-BHAHY4 \h
PEKERRE  |SUS304 m 2. 48




HEK ke & T N=
1. 1y Z— A (@v))-F t=50mm)

(0. 525+0. 325 X2) X4

2. a7 U —kMIoV (t=5cm)

0. 525X0. 325 X4

3. NTFEA (=7 U — R

0. 68X0. 05

4, FREW (7T AT 7V B)

0.68X0. 05

5. 2/7)=hHIFL (¢ 125X 380)

6. Mg 77~ (bbE = 1.13)
(7 /4%0.125°2- 7 /4X0.102°2) X 0. 360X 4

W =0.006 X 1.13 X 1000

7. =V U7 (=R ¥ UEIER, BALEEL 70t/m3)

(7 /4X0.125 2- 7 /4X0.10272) X0.020X1. 70 X4

7. a7 U—1b (18-8-25H)

0. 525X 0. 325X 0. 05X 4
PEBR

(0. 125 0. 125+0. 225X 0. 325) X 1/2X0. 01 X 4
7 /4%0.10272X0. 04X 4

0. 68

0.03

0.03

0. 006

6. 78

0. 00056
0. 56

0.034

-0. 002
-0. 001

m2

m3

m3

fL

m3

kg

kg

m3

m3
m3

0.031

m3



9. PEKILE

S % (mm) ] H & (kg)
o | =N Visin
SO i E = | 2 gl o] 2we| 2 o | MT
BEAKBE TPipe[ o 100 614 1] 2.52 1.5 1.5 [SUS304
H 1 0.2 0.2 [SUS304
PL, 10 X 10 80 3] 0.79 0.1 0.3 [SUS304

s 2.0

4 TEHPTHY 8.0
(N 3
Mg | FE B T FFE HE BT
SUS304 | Pipe | ¢ 100 6|kg
SUS304 | HIM 0. 8|kg
SUS304 | PL t=10 1. 2|kg
10. PEAKERRE ¢ 100X 1.0 L= 0.62 m/f&AT

0.62 X 4 = 2.48 m



[ =a /& ]

M o& OB R EEREITER T)

T Rl Bk - SHk B % o= i =
ST X T E2V 1.0
T eI iigg;ﬁl m 6. 80
;f)g””]‘ SemZ % 6enl T m2 2. 43
YNVAY - $7S a/))-hk m3 0.12
X IE R0 -F (NT) m3 0.12

a7 U— b [18-8-25H m3 0.12




1. 1w Z— A @)=k t=50mm)

1.904+2.60+2. 30

2. 27 ) — FEoY (t=5cm)
@ 1.60X%0.30

@ 2.10X0.50
@ 1.80X%0.50

3. ASMFEA (=7 U — )
a7 )— R30I o0)
2.43%0.05

4, FRIEM
a7 ) — bk (AT))
2.43%0.05

5. 227 U— b (18-8-25H)
@D 1.60X0.30X0.05

@ 2.10X0.50X0. 05
@ 1.80X0.50X%0.05

.80

.48
.05
.90

m2
m2
m2

N[O — O

.43

.12

.12

.02
.05

05

m2

m3

m3

m3
m3
m3

.12

m3
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¥ & % EFF £ (RET)
T f# R Bk - P [ % & E
% T 2V 1.0
YL A TS m2




L T (&mmess)

m2



[ =a /& ]

& £ O RO BHIERAET)

T Mol Bk - ik | B B & fis =

ERARAE T = 1.0

BRHEEA T | FmE m2 1.00 | PEKERE T




I SHRET TrhE

PEARERRE T
0. 500 X 0. 500 X 4 = 1.00 m2



